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Good Afternoon, Colleagues

Are there any questions?
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Walras

e \What kind of auction?

e Basic model: why subsidies?

— Tragedy of the commons (like Braess’ paradox)
e Why move to carrier model?
e \Why move to Arbitfrageur model?

e Is it all about fransportation?

— load balancing, distributed computing, general resource
allocation...
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Walverine

e How do they use General Equilibrium?

e What do they need as inputs to the process?
e How do they determine aggregate supply?

e How do they determine aggregate demand?

e EqQuilibrium over expectation vs. exepected equilibrium?
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Example

e Assume 2 goods, each with 5 units

e Assume there are 10 bidders, each of whom want 1 unit
of 1 good

e The good they want is uniformly random (60% one or the
other)

e [The price they're wiling to pay is infegral, uniformly in
(5,10)

o Ascending 5th price auctions, price starts at ST
e What is the expected demand?

e What is the equilibrium price of this expectation?

e What is the expected equilibrium price?
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Price prediction

e Why would the equilibrium over the expectation be
better?

— Insufficient samples?
— Only sampling over the first decision?

e Why didn’t price prediction lead to the best performance?

e What happens after the initial predictions?

— Note that linear prices only hold at the beginning
— Which is more important? (initial vs. interim)?
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Class Discussion

e Brian Farrell on centralized vs. distributed control
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General Equilibrium vs. game theory

e What is the relationship between Nash Eq. and Gen. EqQ.”?

e Which is “preferable”?
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